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Question Number : 1 Question Id : 70819117134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i x

The period of oscillation of a simple pendulum is T =27 \/_ . Measured value of ‘L' is 1.0 m

from meter scale having a minimum division of 1 mm and time of one complete oscillation is
1.95 s measured from stopwatch of 0.01 s resolution. The percentage error in the determination
of ‘g" will be :

Options :
70819156551, 133 %

70819156552, 1-03%

e
70819156553, 1-13%

.
70819156554, 1-30%

Question Number : 1 Question Id : 70819117134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
70819156551, 1-33 %

70819156552, 1-03%

e
70819156553, 1-13%

.
70819156554, 1-20%

Question Number : 2 Question Id : 70819117135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A particlc- is pmjected with velr}cit}-' g alcrng r-axis. A damping force is acting on the particle
which is proportional to the square of the distance from the origin i.e. ma= axr2. The
distance at which the par'ricle stops :

Options :
1

211{% 2
3o
70819156555.
1
3{!,[2} 2
2o
70819156556.

1
33% 3
2w
70819156557.
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1

205 3

3o )
70819156558.
Question Number : 2 Question Id : 70819117135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

g 33 3 v, =1 &% x-ug E3ytd 3T T

T wers S@hca g s S mafor oA fa
Hia=

a2 »ig (Fonsh) TOt T T9a vigys feg U1 33 et gat 3 7 & Taar
Options :

1
211{% 2
3o
70819156555.

1

3{!{2} 2

2o
70819156556.

1

33:& _ﬁ
20
70819156557.

2(3{} 3
o )
70819156558.

Question Number : 3 Question Id : 70819117136 Question Type : MCQ Option Shuffling : Yes Is Question Mandat gcollegedunias
Correct Marks : 4 Wrong Marks : 1 Indi's Lrgest Student Review Platform

~



A circular hole of radius (—} is cut out of a circular disc of radius ‘a’ as shown in figure. The

centroid of the remaining circular portion with respect to point ‘0" will be :

Y-axis

3

R -
X-axis

Options :

70819156559, ©

5

—a
70819156560, ©

—a
70819156561.

10

—a

70819156562, 11

Question Number : 3 Question Id : 70819117136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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= = = =, da = = noyop w Qs w =
0 T 0O da uoidl aH3Al I ;
fg39 29 foue I wigpg W fowR % 999 82 & ‘a’ wiog fanrar ded
> 3

=99 dfenft J1 fag ‘O’ © »igAa 3foe deard IR & Jefas f§E (centroid) 3 fdar d=ar |

Y-axis

Options :

70819156559. ©

70819156560.

70819156561
10
—a

70819156562, 11

Question Number : 4 Question Id : 70819117137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A body weighs 49 N on a spring balance at the north pole. What will be its weight recorded
on the same weighing machine, if it is shifted to the equator ?

GM .
[Use ¢ = Rg = 9.8 ms 2 and radius of earth, R = 6400 km.]

Options :

70819156563. LN

70819156564. o

70819156565. 4583 N

70819156566. IR

Question Number : 4 Question Id : 70819117137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fea =Az = 979 6391 U9 3 udt anEl Sa3t 349N J | 72 fem & 2T 99T (equator) 3 HEfEnm
A=ar, fon 79 3ms @ HHts 3 of I3 §&funr d=am)
. GM X
[fBg= "7 =9%8ms 2 w3 fus=t = »@g farA R = 6400 km. |
Options :

70819156563. LN

70819156564. o

70819156565, +5-83 N
gcollegedunlaé
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70819156566. 95 N

Question Number : 5 Question Id : 70819117138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f one mole of an ideal gas at (P}, V,) is allowed to expand reversibly and isothermally
(A to B) its pressure is reduced to one-half of the original pressure (see figure). This is followed
by a constant volume cooling till its pressure is reduced to one-fourth of the initial value
(B — C). Then it is restored to its initial state by a reversible adiabatic compression (C to A).
The net workdone by the gas is equal to :

Options :

RT | In2 :
2(y—1)
70819156567.

RT

2(y-1)
70819156568.

70819156569, RT1In 2

70819156570, .
gcollegedunlaé
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Question Number : 5 Question Id : 70819117138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fea nean dm = 8 °e (P, V) €3 ufo=assl/Bee femanus &=t mi3 At ferga &=t (A 3" B)
ferer eag fene »Rst 298 & wig a3 fosT famr 7 (=9 fo=9) fem 3 s, fer & vigs nifess 857
13T famr T 7 31 ferer T8 wiRst e9g T 99 fJAT d 7 (B — C). fev ferm & feret Afgasndt
Aors (C 3 A) ©dr Usg AETUS a3 famr 31 3 owrgr &137 famr &% arod S99 I ¢

Options :

RT | In2 .
2(y-1)
70819156567.

RT
2(y-1)

70819156568.

70819156569, RT1n 2

70819156570. 0

Question Number : 6 Question Id : 70819117139 Question Type : MCQ Option Shuffling : Yes Is Question Mandat
Correct Marks : 4 Wrong Marks : 1 gcollegedunlas
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On the basis of kinetic theory of gases, the gas exerts pressure because its molecules :
Options :

70819156571 continuously lose their energy tll it reaches wall.

70819156572 continuously stick to the walls of container.

are attracted by the walls of container.
70819156573. .

70819156574 suffer change in momentum when impinge on the walls of container.

Question Number : 6 Question Id : 70819117139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

amt T miE I3t fAT’s T o 3, 9 TR &8l J a8t fere wiE
Options :

noo-

a3t niEt S99 How Oe Ao fog Tteg 3 adt udoe |

70819156571.

FATSTT 5936 o Blea 5% Toude I8 |
70819156572.

10819156573, T950 i BTt =8 mfEs 9T T5 |

936 o Tiegt 3 28U JF J'0E Hedl © IO 56T 6|
70819156574. -

Question Number : 7 Question Id : 70819117140 Question Type : MCQ Option Shuffling : Yes Is Question Mandat

Correct Marks : 4 Wrong Marks : 1 .
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In the given figure, a body of mass M is held between two massless springs, on a smooth
inclined plane. The free ends of the springs are attached to firm supports. If each spring has
spring constant k, the frequency of oscillation of given body is :

Options :

1 k

) .
70819156575, =™ ¥ Mg sina

I 2k

2w\ Mg sina
70819156576.

1 2k

5
70819156577, =7 VM

1 [k

Zﬂr\fzm
70819156578.

Question Number : 7 Question Id : 70819117140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatorv : No

Correct Marks : 4 Wrong Marks : 1
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Tore 939 »igAe, M 379 @@ @3 & fsafews T%35 B3 € 99 93 anahr fegara dftpr famr
J1 FTHEM T 4B e AHTEST © 378 19 3 96 | a9 Jud aHE! € AfaY Wd k J 31 (IA3 ©) 386

nifest Feat -

Options :

1 k

E’l‘ Mg sina

70819156575.

1

70819156576.

1

70819156577.

2k

Y Mg sina

-

2%

2w Y M

1 [ k

70819156578.

2w VoM

Question Number : 8 Question Id
Correct Marks : 4 Wrong Marks : 1

: 70819117141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
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When a particle executes SHM, the nature of graphical representation of velocity as a function
of displacement is :

Options :
70819156579, circular

elliptical
70819156580.

parabolic
70819156581.

st‘raight line
70819156582.

Question Number : 8 Question Id : 70819117141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e e 33 A9 wieas J=5t few@er 3, B2 =a1 ¢ femges <8 gu e are fo3as & Ag™m 3

Options :

70819156579.
70819156580.

70819156581.

70819156582.

Question Number : 9 Question Id : 70819117142 Question Type : MCQ Option Shuffling : Yes Is Question Mandat
Correct Marks : 4 Wrong Marks : 1 gcollegedunlas
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Which of the following equations represents a travelling wave ?
Options :

=— X " i
70819156583, ¥ Ae'cos(wt=0)

-

e e :
70819156584, Y= ¢~ (v +0)

= Asi i
70819156585, ¥ = Asin(15x —21)

70819156586, V= AAsnx cosw!

Question Number : 9 Question Id : 70819117142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fegaT fogter mifiaast f<9 3= o®<t 394 ToAEet o ?

Options :

— X " i
70819156583, ¥~ Aecos(w! —0)

-

R, W s
70819156584, Y= A€~ (v +6)

— 7 d 'j
70819156585, ¥ = Asin(15x —21)

70819156586. 7 Asinx cosw!

Question Number : 10 Question Id : 70819117143 Question Type : MCQ Option Shuffling : Yes Is Question Manda“~- - ™'~

Correct Marks : 4 Wrong Marks : 1
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Two electrons each are fixed at a distance “2d". A third charge proton placed at the midpoint
is displaced slightly by a distance x (x << d) perpendicular to the line joining the two fixed
charges. Proton will execute simple harmonic motion having angular frequency :
(m = mass of charged particle)

Options :

1
¢ P
zTrEﬂ, m.rfj
70819156587.

e X
2% )2
TEQ md>
70819156588.

1
TEQ md> |2
2:}2
70819156589.

1

{ZTE{} md” ]E
qE

Question Number : 10 Question Id : 70819117143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T fedaers ‘24" Tot B3 rafuz o8| fEa St grod yes fegara S famr 3 837 faaf x (x < < d)
femens o™ U 7 6 RS T90 @ nact 981 Iy © ®uid J | Ua Ao Weas J181 feur=dr 7 GRel
o=t wirfest Ja 9790 &= (m = 9799 &E ©F Ud J)
g collegedunia:s
Options : India'slargest%dem Review Platforn';
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1
e 2
2me J'H{'fﬁ
70819156587.

1
_2 |2
TEQ md>

1
TEQ r.‘ri*ff‘a 2
2:}2

70819156588.

70819156589. {

1

2meg md> |2
qE
70819156590.

Question Number : 11 Question Id : 70819117144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Figure shows a circuit that contains four identical resistors with resistance R=2.0 (1, two
identical inductors with inductance L=2.0 mH and an ideal battery with emf E=9 V. The
current 1" just after the switch 'S’ is closed will be :

i
2 R
+ T R § L
1
E=9 V] .
R
R
Options :
70819156591, 222 A
70819156592, >0 A
70819156593, 7 A

70819156594, 9 A

Question Number : 11 Question Id : 70819117144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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939 f¥a Aeae fewGer I fan few 9 ffa s © ySiooa 96 figf & yStegas R=2.003)1 €
fea 337 T yga frgf 2 ygas' L=2.0 mH J »=3 f&d »irean oot farel stanae. E=9V J)1 Jde
‘i’ Afe9 S © fowa® 9T a9 3 off J<ar

2o
> R
+T' R: -
E=9v[ ! |
R 3
R
Options :
70819156591. 2.25 A

70819156592, >0 A

70819156593. 3.37 A

70819156594, 9 A

Question Number : 12 Question Id : 70819117145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A soft ferrnmagnetic material is placed in an external magnetic field. The magnetic
domains :

Options :
70819156595 increase in size but no change in orientation.

decrease in size and changes orientation.
70819156596. .
gcollegedunlaé
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70819156597, May increase or decrease in size and change its orientation.

70819156598, have no relation with external magnetic field.

Question Number : 12 Question Id : 70819117145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

8 soH Bg&%T Jgal UTE § Tt Jual u39 &9 Iftewr I fepeher dEelt Yy w39
Options :

20819156595, " T <taT ug fepys =9 a2t e9a adt d=ar

70819156596, TS S5 wear wis fogHs Re sem B oo U

70819156597, 9 <9 = 7f wer J FaeT 7 w3 ferel ferne e =8 O

10819156598, TG OFGl HST & FET HET &dt Joer

Question Number : 13 Question Id : 70819117146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Match List - I with List - IL
List -1 List - II
(a) Source of microwave frequency (i) Radioactive decay of nucleus

(b) Source of infrared frequency (i) Magnetron

(c) Source of Gamma Rays (iii) Inmer shell electrons
(d) Source of X-rays (iv) Vibration of atoms and molecules
(v) LASER

(vi) RC circuit
Choose the correct answer from the options given below :

Options :
70819156599, @ (V) (B)-(v), (€)-(D), (d)-(iv)

70819156600. (a)-(vi), (b)-(iv), (c)-(1), (d)-(v)
70819156601, (@)1, (B)(iv), (c)-(), (d)-(iii)

70819156602, (@)-(i), (b)-(iv), (c)-(vi), (d)-(iii)

Question Number : 13 Question Id : 70819117146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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gt -1 3 gt - 11 575 fisTg

gR- 1 gt - 11
X Dreetn s () o e 3 hafe
(b) fesegos wisst & Aoz (i) Tedres
(c) v foast = A93 (ili) nicget Be feddes
(d) e faest T A3 (iv) yHBE ni3 nigniter e
(v) &9
(vi) YStoud Ue Haee
g% fodht 9=t 9 At B39 S Sz o9
Options :

70819156599, @ (VD) (B)(v), (€)-(0), (d)-(iv)
70819156600, @)-(vi), (b)-(iv), (c)-(i), (d)-(v)
70819156601, @D (B)-(iv), ()-(1), (d)-(iii)
70819156602, (@)-(i), (b)-(iv), (0)-(vi), (d)-(ii)

Question Number : 14 Question Id : 70819117147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[f the source of light used in a Young’s double slit experiment is changed from red to violet :
Options :

70819156603, '€ fringes will become brighter.

70819156604 consecutive fringe lines will come closer.
gcollegeduniag
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70819156605. the intensity of minima will increase.

70819156606, the central bright fringe will become a dark fringe.

Question Number : 14 Question Id : 70819117147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Had Udl T ©Jqt 339 ytiar 29 =9f3nm Jmat A3 @ & J91 3 ot da1 99 sefenr 9

Options :

=fdd 99 gHg=Tg d=dit
70819156603.

70819156604, DITS'T S(or JH= &I i

foHa3H o StagsT =uat
70819156605.

70819156606. [SdoTad®l JHAY'd <ldd W_ﬁ"’ﬁqg eldHd dad™=dll

Question Number : 15 Question Id : 70819117148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An X-ray tube is operated at 1.24 million volt. The shortest wavelength of the produced
photon will be :

Options :

1
70819156607, 10~ nm

2
70819156608, 10~ - nm

.
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3
70819156609, 10 7 nm

4
70819156610, 10~ nm

Question Number : 15 Question Id : 70819117148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

o X-fags a5t 1.24 fHis 332 3 95 991 3. U 92 224 ©f B9 3 221 3941 gl J=41t :
Options :

1
70819156607, 10~ nm

2
70819156608, 10 - nm

3
70819156609, 10 7 nm

4
70819156610, 10 ° nm

Question Number : 16 Question Id : 70819117149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The de Broglie wavelength of a proton and a-particle are equal. The ratio of their velocities
18 :

Options :
70819156611, 1

70819156612, + 2

. . 3 .
70819156613, 4 gcollegedumag
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70819156614, 14

Question Number : 16 Question Id : 70819117149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fEa U2s ni3 o -33 ©f S-S0t IgawaT sl 99eg 95 | 8507 T 2a1 T nisu3 3
Options :
70819156611, 4°1

70819156612.

70819156613, 493

70819156614, 14

Question Number : 17 Question Id : 70819117150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

According to Bohr atom model, in which of the following transitions will the frequency be
maximum 7

Options :

70819156615, N=2 to n=1

—_— :’}
70819156616, N=3 ton=2

70819156617, - F o N

n=5tn=4

70819156618. gcpllegeduniag

~



Question Number : 17 Question Id : 70819117150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[ e e, T e [ ak%

579 HS® © WigA o3 J=mi Adeshr 29 faretr nirfest G53H J=att 2

Options :
70819156615, 22 > =1
e =¥ =j
70819156616, M= 3 N=2
70819156617, N =4 3 n=3
n=53 n=4
70819156618.

Question Number : 18 Question Id : 70819117151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Zener breakdown occurs in a p —n junction having p and n both :
Options :
70819156619. lightly doped and have narrow depletion layer.

70819156620. lightly doped and have wide depletion layer.

70819156621 heavily doped and have narrow depletion layer.

heavily doped and have wide depletion layer.

70819156622. .
gcollegedunlas
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Question Number : 18 Question Id : 70819117151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

p—n HaEG (99 H6d ga8T8n Gu @Ude J AT p M3 1 I8

Options :

70819156619. oo 3u 3 i

70819156620, 2001 HST" 199 U w3 9 susins Al

70819156621, e HET 159 SU S uSE fusins A

70819156622. =

Question Number : 19 Question Id : 70819117152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement 1 : PN junction diodes can be used to function as transistor, simply by
connecting two diodes, back to back, which acts as the base terminal.

Statement Il :  In the study of transistor, the amplification factor § indicates ratio of the
collector current to the base current.

In the light of the above statements, choose the correct answer from the options given below.
Options :
70819156623, both Statement I and Statement 11 are true

70819156624 Both Statement I and Statement 1l are false

Statement 1 is true but Statement 1l is false gﬁol”ﬁieﬂuw'][i

~

70819156625.



70819156626. Statement 1 is false but Statement 1l is true

Question Number : 19 Question Id : 70819117152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
J&T e aus B3 75 ¢
ag6 |: PN rams 5188 § grivped ©f 39 =93 7 Ade J, © 5788  Adoz 9y <9 Aga
&, fEd g © filg, 7 1 »rug 2oHies & 3T aH age J1

L I ™ 5

aga Il :  iapes & uze =9, wusifeams I8 B Ao e »S Widd duc © "gd's &

SuSes g T Aau fou, ig S ROt B9 9= &9
Options :

70819156623, =0 oEs 1 ni3 aEs 11 Ad a5

s &8s 1 W3 ags 1l %3 95
70819156624.

o896 | At T ug ags 11 TS O
70819156625.

86 | %3 J ug &g 1l Adt O
70819156626.

Question Number : 20 Question Id : 70819117153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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>o0—o0 C

The logic circuit shown above is equivalent to :

Options :

S
C

70819156627, ©
Ao—>0— _
o—o C

70819156628, ©©
dPa TSl o
70819156629, B ° |
1) De—c
C

B

Question Number : 20 Question Id : 70819117153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A
{>o0——0 C
B

Bug ff3 I¢ 399 Adoe T RHS® J/AHAOER J

70819156630

Options :

.
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|
I

70819156627. B )

Ao—{>0—

B o———

70819156628.

Ao— >0

Boe

T

70819156629.

= >
]

70819156630.

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 21 Question Id : 70819117154 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

I

Physics Section B

708191683
2

Online
Mandatory
10

5

20

Yes

1
708191963
Yes

.
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Two solids A and B of mass 1 kg and 2 kg respective-l}-' are moving with equal linear

A
momentum. The ratio of their kinetic energies (K.E.), : (K.E.); will be 1% the value of

A will be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 21 Question Id : 70819117154 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T o0 A »3 B faaf @7 979 1 kg »3 2kg gHI'T J, I97HT 94T A<dl &% o8 9J 951 fear 2t arfzw
e .r'J"L ; i
gurter € migus (KE), : (KE); I T 3P AT WE Jear
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 22 Question Id : 70819117155 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A uniform metallic wire is elongated by 0.04 m when subjected to a linear force F. The
elongation, if its length and diameter is doubled and subjected to the same force will be
cm.

.
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 22 Question Id : 70819117155 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

&g Ave o3fex 379 0.04 m f99 & =ust T 77 €7 3 9ot = F sarfowr e U1 foret st mis
fomR S99 a9 ug w3 BR AHS 5% widls 379 ©f SOvet S9TE J=at cm.

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 23 Question Id : 70819117156 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A uniform thin bar of mass 6 kg and length 2.4 meter is bent to make an equilateral hexagon.

The moment of inertia about an axis passing ﬂlrnu%h the centre of mass and perpendicular
to the plane of hexagon is X T kpm

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

.
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5t05.001

Question Number : 23 Question Id : 70819117156 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

g ms uss =3 fAre 979 6 kg »E BFEl 24 Hieg 7 3 HF & 2@ Ay &89 gaionm 31

ferer 7337 Wiz @R oo ©® J # fa 979 € deg &9 Bwer dfenwm 239 3® @ ®9 I
~ x10 1kg mZ TI

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 24 Question Id : 70819117157 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The root mean square speed of molecules of a given mass of a gas at 27°C and 1 atmosphere
pressure is 200 ms !, The root mean square speed of molecules of the gas at 127°C and

2 atmosphere pressure is ﬁ ms ™~ . The value of x will be
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 24 Question Id : 70819117157 Question Type : SA

.
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Correct Marks : 4 Wrong Marks : 0
27°CIUHS W3 1 atm T8 3 fEg 23 UF 9 © nign 2 S999AS ¥& st 200 ms ! T1 dA

- " Ty - - - _1- : i =
T mgnit € TIT-WAS UB St 127°C w3 2atm T96 €3 —ms 1 U1 x THS I
3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 25 Question Id : 70819117158 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Two cars are approaching each other at an equal speed of 7.2 km/hr. When they see each

other, both blow horns having frequency of 676 Hz. The beat frequency heard by each driver
will be Hz. [Velocity of sound in air is 340 m/s.]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 25 Question Id : 70819117158 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

€ &5 7.2km/hr T 59790 35T &% £ T o Ugg sdmi 36| AE 89 fEa T9 @ o 998 9T
6, Wiest 676 Hz €t I 6 ufdosa © BE3 @@ &g wriegt J=an Hz. [7= =9
e T 3=5T=340 m/s. |
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 26 Question Id : 70819117159 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A point charge of +12 puC is at a distance 6 cm vertically above the centre of a square of side

12 cm as shown in fi%urc-. The magnitude of the electric flux through the square will be
x 10° Nm?2/C.

*+q

<
)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 26 Question Id : 70819117159 Question Type : SA
Correct Marks : 4 Wrong Marks : 0 g coIIegeduniag

~



fea +12 puC = fi 9oy foue 939 99 12 cm 979 98 2991 © 329 3 6 cm ©F GOTEl (vertically
above) I Tga € T fer@el e®an T ufoH= %103 Nm2/C J=ar|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 27 Question Id : 70819117160 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A cylindrical wire of radius 0.5 mm and conductivity 5x 107 S/m is subjected to an electric
field of 10 mV/m. The expected value of current in the wire will be 1 mA. The value of x
is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001
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Question Number : 27 Question Id : 70819117160 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

fea wwe niardl 379 fARe »eg @R 0.5 mm »E 8531 5% 10°S/m I8 10 mV/m =% faawmer
437 &% Ygies fagr famr 71 379 9 ade = wafss U8 P mA J=9 1 x T 0S
Jl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 28 Question Id : 70819117161 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A series LCR circuit is designed to resonate at an angular frequency w,= 10° rad/s. The
circuit draws 16 W power from 120 V source at resonance. The value of resistance ‘R’ in the
circuit is (1.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 28 Question Id : 70819117161 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

fEq &5t LCR AEae 3 wy=10° rad/s T aal »rigst © nigatet gefent famr J1 migae €3
AddE 120 V A93 a8 16 92 Bad &vr J| Agde &9 yf39u ‘R’ =7 s QI

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 29 Question Id : 70819117162 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

An electromagnetic wave of frequency 3 GHz enters a dielectric medium of relative electric
permittivity 2.25 from vacuum. The wavelength of this wave in that medium will be
%102 cm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 29 Question Id : 70819117162 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3 GHz nifest =it firs wuelt 301 o smeliBatfeal Wby ¥ y3m oot 3 famet ooy st
e (UgHE=IEh) 2.25 71 8F vt =9 fer 3591 & 3901 saret ___x10"2cm
J=att |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range
Text Areas : PlainText

Possible Answers :
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Question Number : 30 Question Id : 70819117163 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A signal of 0.1 kW is transmitted in a cable. The attenuation of cable is —5 dB per km and
cable length is 20 km. The power received at receiver is 10~ * W. The value of x is

[Gain in dB=10 Iogm[ ]

P, )
Fi )
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 30 Question Id : 70819117163 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0.1 kW =% f=a fees 3§ 379 <8 Aerfas als" Aef 1 39 & dies Y=t km — 5dB U »i3 ferel
saet 20 km J1 fodtes 3 yus I=t Gov = ufga®s 107 *W I x T H& af

\
[&F nies dB=10 log,, 5]]
F; )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

.
gcollegedunlaé
India’s largest Student Review Platform

~



5t05.001

Chemistry Section A

Section Id : 708191684
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191964
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819117164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

According to Bohr's atomic theory :

2

(A) Kinetic energy of electron is = Z—,J

n
(B) The product of velocity (v) of electron and principal quantum number (n),
‘v’ 72,
3
(C) Frequency of revolution of electron in an orbit is = s
n

3
(D) Coulombic force of attraction on the electron is = —
n
Choose the most appropriate answer from the opltions civen below : .
L EHOS gcollegedunlas

Options : 4



70819156641, () (€) and (D) only

70819156642, (A) and (D) only

70819156643, (€) only

70819156644, ‘¥ Only

Question Number : 31 Question Id : 70819117164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

509 Bohr ¥ ugHE<! fHUS nigAS

P
(A) fedoes & adt Gowr « 27 |

n
(B) fedaes & =a1 (v) M3 By aniaed »id (n) ©F d&6e® vnx 72
3
(O) fodags <t fari nifafee s drew eoids Saro dux & dowasr « 2.

n’

3
(D) fedaes %g%&aﬁﬂm{aax‘%
n

J5 @i {39 pat 9= a9
Options :
70819156641, 9% (), (©) 3 (D)

70819156642, 1792 (A) 73 (D)
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70819156643, 1792 (©)

frae (A)
70819156644,

Question Number : 32 Question Id : 70819117165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct shape and I 11 bond angles respectively in I; ion are :
Options :
70819156645, Linear; 1807

70819156646, D storted trigonal planar; 135" and 90

70819156647, 1-shaped; 180° and 90°

Trigonal planar: 120°
70819156648, | eona planar

Question Number : 32 Question Id : 70819117165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

I, »&& € Adl 39&" »= 1-1- 1 bond 3= FHES S 75|

Options :

70819156645. BelgeT H BH gH T (f5ae), 180°

feafes f3zdia AHS®: 135° M3 90°
70819156646.

70819156647, 1-8E39 =Tal; 180° w3, 90° gcpllegeduniag
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70819156648, 32T FHS®; 120°

Question Number : 33 Question Id : 70819117166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Most suitable salt which can be used for efficient clotting of blood will be :
Options :
NaHCO,
70819156649. -
70819156650, V18(HEO3)2

70819156651. FeCl,

70819156652, 104

Question Number : 33 Question Id : 70819117166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ag 3 Bf9s ®= ©A 7 &g ©f J=/a=3/ge 96 <9 Ag 3 fimfer gae J|
Options :

NaHCO

70819156649, o 3

70819156650, M8HCO3)2

70819156651. FeCl,
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70819156652

FeSO,

Question Number : 34 Question Id : 70819117167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct set from the following in which both pairs are in correct order of melting point

15 :

Options :

70819156653

70819156654.

70819156655

70819156656.

LiCl > LiF ; MgO > Na(Cl
LiF > Li(1 ; MgO > Na(Cl
LiCl > LiF ; NaCl > MgO

LiF > Li(1 ; NaCl > MgO

Question Number : 34 Question Id : 70819117167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

foHaTmys © AT O ©F 97 o9 AA 50 ©= 89t © fuwss ©o99 © gy ’dr J1

Options :

70819156653

70819156654.

70819156655

70819156656.

LiCl > LiF ; MgO > Na(Cl
LiF > Li(1 ; MgO > Na(Cl
LiCl > LiF ; NaCl > MgO

LiF > Li(1 ; NaCl > MgO

.
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Question Number : 35 Question Id : 70819117168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - 1 with List - 1L

List - 1 List - 11
(Metal) (Ores)
(a) Aluminium (i) Siderite
(b) Iron (ii) Calamine
(c) Copper (iii) Kaolinite
(d) Zinc (iv) Malachite

Choose the correct answer from the options given below :

Options :
70819156657. @)1, (b)-(i1), (c)-(iii), (d)-(iv)

70819156658, (@)-(1v), (b)(iii), (c)-(ii), (d)-(i)
70819156659, @)-(i), (b)-(iv), (c)-(1), (d)-(xii)

70819156660, ‘@) (1), (b)=(1), (c)~(iv), (d)-(ii)

Question Number : 35 Question Id : 70819117168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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(ars) (ddt o3)
(a) MBHEMH (i HAisEaee
(b) B (i) FEHES
(c) aug (ii) TEHEEE
(d) fa= (iv) Feaee

I5 oy feamu’ o5 pat €39 St S= a9
Options :

70819156657, @)(1), (b)-(ii), (c)~(iii), (d)-(iv)
70819156658, (@), (b)-(iil), (c)-(i1), (d)-(1)

70819156659, (@)-(i), (b)-(iv), (c)-(1), (d)-(iii)

70819156660, \@)-(Hi), (b)-(1), (c)-(iv), (d)-(ii)

Question Number : 36 Question Id : 70819117169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as

Reason R.

Assertion A : Hydrogen is the most abundant element in the Universe, but it is not the
most abundant gas in the troposphere.

Reason R : Hydrogen is the lightest element.

In the light of the above statements, choose the correct answer from the options given

below :

Options :

.
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70819156661, Both A and R are true and R is the correct explanation of A
70819156662, Both A and R are true but R is NOT the correct explanation of A

70819156663, v 18 true but R is false

70819156664, ‘A 15 false but R is true

Question Number : 36 Question Id : 70819117169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

J5' € ags 93 95| fea @ feg @Ea A fagr I nE o0 § 98 a8s R fear I
foz a8 A gias ST oeisows Ag 3 Tu ST 28 ufenr FrF o 33 U U93 ZoUREmE
<9 fog r2 3" Su W3 <9 U=t 9= =@ dF &4 J1

s R JES9ds A9 337 3 9% 33 J|
Sudes fanst ©f fog I5 23 feamut fog At 839 ©F 5= 9|
Options :

20819156661 T fog 985 A »i3 96 &85 R A9t 96, »iE 95 R, feg aga A ©F Adt fanrfir 3

20819156662 =< fog 985 A w3 995 956 R AT 95, Ud3 @95 R, foz aas A & mdt fonrfipr 53t 3

70819156663, = 290 A FdF I US3 96 @86 R AT &dF 7

T3 &85 A Adl &dl J UdS 96 oEs R A9l d
70819156664. ~ =

Question Number : 37 Question Id : 70819117170 Question Type : MCQ Option Shuffling : Yes Is Question Manda gcqllegeduniag

~



Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11.

List - 1 List - 11
(Salt) (Flame colour wavelength)
(a) LiCl (i) 455.5 nm
(b) NaCl (ii) 670.8 nm
(c) RbCl (iii) 780.0 nm
(d) CsCl (iv) 589.2 nm

Choose the correct answer from the options given below :
Options :
70819156665. (a)-(iv), (b)-(ii), (c)-(iii), (d)-(1)

70819156666, (@)-(ii), (b)-(iv), (c)-(iii), (d)-(i)
70819156667, @) B)-(v), (c)}-(i), (d)-({ii)

70819156668, (@)-(i), (b)-(1), (€)-(iv), (d)-(ii)

Question Number : 37 Question Id : 70819117170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

.
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gdt-13 get- 1 3 i,

Hot - 1 gdi- 11
Gfaarss s dar & sda STE
(a) LiCl i) 455.5 nm
(b) NaCl (ii) 670.8 nm
(c) RbCl (iii) 780.0 nm
(d) CsCl (iv) 589.2 nm
I fe3 feamut feg' At B39 S 8= av

Options :
70819156665, (@) (IV), (b)-(i), (c)-(iii), (d)-(i)

70819156666, (@)-(i1)., (B)(iv), ()-(iii), (d)-(i)
70819156667 @), (0)-(iv), (c)-(i), (d)-(iii)

70819156668, (@) (1). (b)-(1), (c)-(iv), (d)-(ii)

Question Number : 38 Question Id : 70819117171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The incorrect statement among the following is :
Options :
70819156669 VOSO, is a reducing agent

70819156670 RuD4 is an oxidizing agent

Cr,O; is an amphoteric oxide .
70819156671. collegedunia:
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70819156672

Red colour of rub}-' is due to the presence of Co**

Question Number : 38 Question Id : 70819117171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ferafmys st o5 fao favms Fdtadt At a3 T 7

Options :

70819156669

70819156670

70819156671

70819156672

VOSO, Bwarad J |

RuO, Mariasd J|

Cr,0, Weefdd (amphotaric) MEAES T

gt T &% Ja1 Co® ' miest 8 Hgedl a96 ge' J|

Question Number : 39 Question Id : 70819117172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the correct order of the fnllnwf_ng elements with respect to their densit}-' 7

Options :
70819156673

70819156674

70819156675

70819156676

Cr<Fe<Co<Cu<Zn
In<Cr<Fe<Co<Cu
n<Cu<Co<Fe<C(Cr

Cr<Zn<Co<Cu<PFe

.
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Question Number : 39 Question Id : 70819117172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

wEsT v mrUS 83 96 3 fe9 faosr g 33t &2t Adt 97
Options :

70819156673, Cf <Fe<Co<Cu<Zn

70819156674, Zn < Cr < Fe < Co < Cu

70819156675, Zn <Cu<Co < Fe<Cr

70819156676. Cr < Zn < Co <Cu < Fe

Question Number : 40 Question Id : 70819117173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The calculated magnetic moments (spin only value) for species [FeCl, Iz ~ [CHC,04) I;_-, o

and [‘h.lnDi‘_ respectively are :
Options :
70819156677. 490, 0 and 1.73 BM

70819156678, 2-92, 4.90 and 0 BM

70819156679, 2-82, 0 and 0 BM

70819156680, +20, 0 and 2.83 BM

.
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Question Number : 40 Question Id : 70819117173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[FeCl, ]2_r [Co(C504 )3 ]3 o3 Mnﬂi_ AUTHY &= g96ld 3Hd HST (magnetic moments)
(spin only value) g3 AfUs H3T T HS'EE d9d AJl 839 GHE'T d|

Options :

70819156677, =20 0 7S 1.73 BM

70819156678, > 02 +90 75 0 BM

70819156679, 202 0 7= 0 BM

70819156680, +90- 0 7= 2.83 BM

Question Number : 41 Question Id : 70819117174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The value of the parameter “Biochemical Oxygen Demand (BOD)" is
important for survival of aquatic life.

Statement 11 : The optimum value of BOD is 6.5 ppm.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
70819156681 Both Statement I and Statement 11 are true

70819156682, Both Statement I and Statement 1l are false

0819156683, Statement I is true but Statement 1l is false gﬁolllgetgde‘(iluﬂlﬁam

~



Statement 1 is false but Statement 1l is true
70819156684.

Question Number : 41 Question Id : 70819117174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

J6 © ags o3 76

gesl : AEdes © T gfus wt “Hie-fefomrsa nradtas Har (BOD) HueEs W 593
HUSSUTS J|

g5 11:  (BOD) T »ia@®3H HS 6.5 ppm J|

Budes Igw Tt f3g Js o3 feamyt 25 Adt €39 &t wsiz a9

Options :

20819156681, X500 173 T86 11 &< 9t Bt 951

70819156682, T a0 103 1L a3 5|

20819156683, 390 1 At I UGS a@6 119153 I |

20819156684, 350 1 B3 T U3 w86 1L A I

Question Number : 42 Question Id : 70819117175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The diazonium salt of which of the following compounds will form a coloured dye on reaction
with -Naphthol in NaOH ?

Options :

.
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70819156685.

: - CHEMH2
70819156686.

r

Question Number : 42 Question Id : 70819117175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

J5 oy gige 199" fom & sfomaamiy 82, Asted oeisomarels (NaOH) © us =8 p-3ues
(B-Naphthol) & yf3fafonr a9d Jais 37T ga=ar |

O

70819156687.

70819156688.

Options :

70819156685.

.
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: ’CHENHE
70819156686.

CI—I3

Question Number : 43 Question Id : 70819117176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

70819156687.

70819156688.

Which one of the following compounds is non-aromatic ?

(]

70819156689, O

Options :

@

70819156690. ¥

70819156691 :
gcollegedunias
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70819156692. I [ I

Question Number : 43 Question Id : 70819117176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

5 fisiy Gt 25 oo RV Hanfea (Aromatic) 39t 3 |

Options :
-

70819156689, O

70819156690.

=]

®
70819156691. :
70819156692. I I I

Question Number : 44 Question Id : 70819117177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following carbonyl compounds cannot be prepared by addition of water
on an alkyne in the presence of HgSO, and H,50, ?

Options : s
ptions gcollegedunlaé
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O
|

70819156693, i3~ C—H
2
|
—C—CH,CH
70819156694, <113~ € 2413

i

O
I
CH;—CH,—C—H

70819156695.

70819156696.

Question Number : 44 Question Id : 70819117177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Jo for argales wiget <5° fagar wfaw, HgSO, »i3 H,S0, Tt Fgedl S8 nisarels (alkyne) 29

U=t THe & f3ng &dt &9 Fae |
Options :

O
Il

70819156693, 13~ CH

O

[l
_C_CH-CH
70819156694, 113~ ¢ 2=

.
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T

0
CHy=CH;=E<H

70819156695.

70819156696.

Question Number : 45 Question Id : 70819117178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The correct order of the following compounds showing increasing tendency towards
nucleophilic substitution reaction is :

Cl Cl Cl 1
NO;, NO,

NO,
(1) (i) (iii) (iv)
Options :
70819156697, (V) < (i) < (i) < (1

70819156698, (V) < (1) < (iii) < (ii)

70819156699, (1) < (i) < (iii) < (iv)

(v) < (1) < (i) < (i) :
70819156700. collegedunia:s
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Question Number : 45 Question Id : 70819117178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

J5 5y mige = f58afen madt fereus yfsfafenr =9 T nigAe Fdt g =R |
@ @ @ (;I
(i) (i) (ii) (iv)
Options :

70819156697, V) < (i) < (i) < ()

70819156698, (V) < (1) < (iii) < (ii)
(i) < (ii) < (iii) < (iv)

70819156699.

20819156700, V) < (1) < (i) < (i)

Question Number : 46 Question Id : 70819117179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

.
gcollegedunlas
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O

Which of the following reagent is suitable for the preparation of the product in the above
reaction ?

Options :

NaBH,
70819156701.

o@

70819156702, T2 ~NH,/CH50Na
70819156703, o/ Ha

Red P +Cl,
70819156704 2

Question Number : 46 Question Id : 70819117179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

X0

Buses ufsfafonr w=t Az 3° €93 Ufseena faga I

Options :
NaBH gcollegedunlag
708 1 9 1 5670 1 . 4 India’s largest Student Review Platform
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o@
70819156702, T2~ NH;/GH50ONa

70819156703, T/ Ha

70819156704, ed PHCl

Question Number : 47 Question Id : 70819117180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the correct sequence of reagents used for converting nitrobenzene into
m-dibromobenzene ?

NO;, Br
o o= - -
Br
Options :
Sn/HCI / KBr / Brs / H+
o - - o
70819156705.
NaNO, / HCl / KBr / H*
- - t o '
70819156706.

Sn/HCI / Br, / NaNO, / NaBr
- o = -
70819156707. ,
collegedunias
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Br,/Fe F/Snﬂ 1(_1"/ NaNO,/HClI ;/CuBr,fHBr e
70819156708.

Question Number : 47 Question Id : 70819117180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

SEICHAHIG & m-STEEIHEAHIG 9T SHCI® A6 BEl 993 A @ YlSaoHa ©f Adl 39319 ©H |

.'\]'Dz Br

Br

Sn/HCl / KBr / Br, / H*

T - - -
NaNO, / HCl / KBr / H*

s - t o :

Sn/HCI / Br, / NaNO, / NaBr
- 5o - -

Options :

70819156705.

70819156706.

70819156707.

Br,/Fe F/Snﬂ 1(_1"/ NaNO,/HClI ;/CuBr,fHBr e
70819156708.

Question Number : 48 Question Id : 70819117181 Question Type : MCQ Option Shuffling : Yes Is Question Manda gcdlegeduniaé

~



Correct Marks : 4 Wrong Marks : 1
In polymer Buna-5 : °S’ stands for :
Options :

70819156709, SUlphur

70819156710, Strength

70819156711, Styrene

70819156712. Sulphonation

Question Number : 48 Question Id : 70819117181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

qo%d 5o-S g ‘'S’ Tt I= U7
Options :

70819156709. '

70819156710, 'S9UE HCUH/STAS

70819156711, F<€ CEIE

70819156712.

Question Number : 49 Question Id : 70819117182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gcollegeduniag
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Match List - I and List - 11

List - 1 List - 11
(a) Valium i)  Antifertility drug
(b) Morphine ii) Pernicious anaemia
(c) Norethindrone iii) Analgesic
(d) Vitamin B, iv) Tranquilizer
Options :
70819156713, (@)-(1), (b)-(iii), (c)-(iv), (d)-(ii)

70819156714, (@)-(iv), (b)-(iii), (c)-(ii), (d)~(i)
70819156715, (@)-(1v), (b)-(iii), (c)-(i), (d)-(ii)

70819156716, @)-(H), (b)-(iv), (c)-(iii), (d)-()

Question Number : 49 Question Id : 70819117182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

gt I »i3 gat 1 & fuee a9 ¢
goi-1 gut-11
(a) <fEnm (i) uSt 755 AHTE" (antifertility drug)
(b) He=ls (i) wW3x PEH (WS B T We)
(c) wonifaesda (iiiy ToE faeax / Uizgast
(d) feeriis By, (iv) Mo HS oo om oE (29 TenmTEed)

Options :
70819156713, (@)-(1), (b)-(iii), (c)-(iv), (d)-(ii)

0819156714, (@)-(iv), (b)~(ii), (c)-(i), (d)-(i) Qfﬂg{!ﬁgjﬂg‘]ﬁi

~



70819156715, (@), (b)-(iid), (c)-(1), (d)-(ii)

70819156716, @F(), (b)-(iv), (€)-(iii), (d)-(i)

Question Number : 50 Question Id : 70819117183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List - 1 and List - IL
List - 1

0
|
(a) R -5k THO

() R—CH,—COOH — R—CH—COOH
|
Cl

o)
I
() R—C—NH,—R-NH,

o}
I
(dd R-C-CH3 —+R—-CH,-CH;3

List - 11

()  Br,/NaOH

(i) H,/Pd-BaS0O,

(iif) Zn(Hg)/Conc. HC1

(iv) 1,/Red P, H,O

Choose the correct answer from the options given below :

Options :
70819156717, (@) (1), (b)-(iv), (c)-(1), (d)-(ii)

70819156718, (@)-(i1), (b)-(1), (c)-(iv), (d)-(ii)

.
gcollegedunlaé
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70819156719, @)-(i), (b)-(1), (c)-(iv), (d)-(iii)

70819156720, @ (1), (b)-(v), (€)-(1), (d)-(iii)

Question Number : 50 Question Id : 70819117183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
get 1 »3 Bt 1L © fheE &9 ¢
get-1
O
(a) R—clz—t_t — R—CHO

(b) R—CH,—COOH — R—CH-COOH
I
Cl

o)
(©) I{—'g“—NEIQ—-R—NHz
0
(d) R—(li—CII3—rI{—CI{2—CII3
J6 fou fedmut o8 rdt €39 € o= av -

Options :
70819156717, @-(1i), (b)-(iv), (c)-(i), (d)-(ii)

70819156718, (@)-(1i), (b)-(1), (c)~(iv), (d)-(ii)

70819156719, (@) (1), (b)-(1), (c)-(iv), (d)-(iii)

get-11

()  Br,/NaOH

(i) H,/Pd-BaSO,

(iii) Zn(Hg)/Conc. HC1

(v) ,/RedP, H,O

.
gcollegedunlaé
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70819156720, @), (b)-(v), (€)-(1), (d)-(iii)

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 51 Question Id : 70819117184 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The formula of a gaseous hydrocarbon which requires 6 times of its own volume of Dz for
complete oxidation and produces 4 times its own volume of CO, is C IHH. The value of y is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 51 Question Id : 70819117184 Question Type : SA

Chemistry Section B

708191685
4

Online
Mandatory
10

5

20

Yes

1
708191965
Yes

.
gcollegedunlag
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Correct Marks : 4 Wrong Marks : 0

fea dmt oetsdaraEs C.H, © Uds niaHioes SEr B9t el miartss & WS Ieisdarass © niuE
WSS (volume) 3 6 I& I »i3 BR &% faaml CO, TF ST IH T MH36, WUE WHSs © 4 J&
JI JHt TEtsdagEs v fedy = HE JI

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range
Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 52 Question Id : 70819117185 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The volume occupied by 4.75 g of acetylene gas at 50°C and 740 mmHg pressure is
L. (Rounded off to the nearest integer)

[Given R=0.0826 L atm K~ 1 mol 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 52 Question Id : 70819117185 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

475 g WMHCTEISIE (acetylene) 3 50°C, M3 740 mm Hg T v 3 BRT miss LTI
(€37 ygz nix 33 &y)
[fE3" R=0.0826 L atm K~ ! mol ]

.
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 53 Question Id : 70819117186 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Assuming ideal behaviour, the magnitude of log K for the following reaction at 25°C is
x %1071, The value of x is . (Integer answer)

JHC = CH(E}: C,::,] IE'U}

[Given : A/G°(HC=CH)= —2.04x10° ] mol ! ; A.G*(CgHg)= —-1.24x10° J mol™ ! ;
R=8314 ] K~ mol~1] "

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 53 Question Id : 70819117186 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3HC =CH g ——C¢Hg(y nregn aa37 199 log K& W@ 25°C 3 xx107 131 x & W&
JI (837 yg= mid 39 &)

CEE A G*(HC=CH)= —2.04X 10° T mol 1 ; AG°(CgHg) = —1.24 % 10° ] mol—1 ;

R=8314 K1 mol~] )

Response Type : Numeric

.
gcollegedunlaé
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 54 Question Id : 70819117187 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

CgHg, freezes at 5.5°C. The temperature at which a solution of 10 g of C;H,;, in 200 g of C H,
freeze is __"C. (The molal freezing point depression constant of C H; is

5.12°C/m.)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 54 Question Id : 70819117187 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

5.5°C 3uHs 83 C.H, (¥a+la) #H Afet 71§ 200g C.H, €9 10g C,H,, T us s=ete 31 fog
s o Q) Iuns B3 FHar?
(fg37 T - K, /&% ni<aHs AfET wid 36Hls &=t = 5.12°C/m)

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

.
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5t05.001

Question Number : 55 Question Id : 70819117188 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The solubility product of Pbl, is 8.0 % 10 ? The solubility of lead iodide in 0.1 molar solution

of lead nitrate is v x 10© mfﬂ,’L. The value of x is . (Rounded off to the nearest
integer)

[Given \/T = 1.41]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 55 Question Id : 70819117188 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Pbl, T WHEHIBIT giEnes 8.0>x1077 71 usT &9 f& 0.1 M Pb(NO,), W {98 Pbl, € wseH®s
rx10 e mol /LTI x T HE J1 (839 ygz wia 3a f&y)

(RS 2 =141]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 56 Question Id : 70819117189 Question Type : SA

.
gcollegedunlas
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Correct Marks : 4 Wrong Marks : 0

The magnitude of the change in oxidising power of the MnDE / Mn 2+ couple is x x 10 iy,

if the H* concentration is decreased from 1 M to 10~ 4 M at 25°C. (Assume concentration of

: - fal iy : ; :
MnO,4 and Mn~" to be same on change in H" concentration). The value of x is

(Rounded off to the nearest integer)
E 2303RT
[uiven : I—‘ = U.[EU]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 56 Question Id : 70819117189 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

5 25°C 3ns €3 HY nigs F Auest 1 M 37104 M 35 wer fest 972 3t MnO), /Mn? " &3
wiaHagal FaST (oxidising power) xx 1074V 31 (s o 98 fa H* »os ©F AwEsT wez 3 =

MnO, »& Mn’*e fuzsr sowe offet ) x & Ws JI (837 uds nim 3 f&8)

{fﬁ?ﬁ: —2'3[];5 i . {].[]59]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

.
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5t05.001

Question Number : 57 Question Id : 70819117190 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Sucrose hydrolyses in acid solution into glucose and fructose following first order rate law
with a half-life of 3.33 h at 25°C. After 9 h, the fraction of sucrose remaining is . The value

1
of Iogm[T] is %1072, (Rounded off to the nearest integer)

[Assume : In 10=2.303, In 2=0.693]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 57 Question Id : 70819117190 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

SaEl WS 39 AdOW (S5-Hd9) A% »UwEs I d%ad WS Sgden dee J1  feg yfsfafor yan #F

ufas B9 gH <d1 fowH vigAa det 3 w3 fer yfsfafanr &€t 25°C 3uns 3 nigu-mg (t,) 333 h
' \

I 9 h EwE 59 JB/Tel 99 Helod © WE [ T Ingm[iJ = S x10-2 71

(839 uas »ix 3x &)

[ {237 T - In 10 = 2.303, In 2=0.693]

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

.
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Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 58 Question Id : 70819117191 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Among the following allotropic forms of sulphur, the number of allotropic forms, which will
show paramagnetism is _

(A) a-sulphur (B) p-sulphur (C) S,-form

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 58 Question Id : 70819117191 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

J5' A%Ed © Wisgedy (allotropes) ©H JF 761 ToHalEys ABed T nesead’ T fao9 niagaains
(paramagnetism) TIHEE J|

(A) o-A®=9 (B) pB-A®=T (©) Sgv

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :
5 t0 5.001 gcollegedunlas
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Question Number : 59 Question Id : 70819117192 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of amines among the following which can be synthesized by Gabriel
synthesis is _

CHlc o X
(A) CH; CH—CHy—NI (B) CH,CH,NH,

CHy—NHj NH,
© ©/ D) ©/

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 59 Question Id : 70819117192 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

75 o niftet T° faste® wikiite® doofes Arene =0t ourgr g=e 7 Faem 76 |
CHjz
CHs

CHy—NH» NH»
© ©/ (D) ©/

Response Type : Numeric

Evaluation Required For SA : Yes gco”ege dunia:
Show Word Count : Yes India’s largest Student Review Platform

(A) CH—CHp—NIH» (B) CH,CH,NH,
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Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 60 Question Id : 70819117193 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1.86 g of aniline completely reacts to form acetanilide. 10% of the product is lost durmﬁ
purification. Amount of acetanilide obtained after purification (in g)is o | et

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

Question Number : 60 Question Id : 70819117193 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1.86 g WEIEI USt 3§ yfSfafonr a@a nirtenasiaes foet 71 ferer guiaes fafanr 298 10%
SiAet Bun ¥SH/GHE T 7fel J1 gl YUS 9T WHICHSIBES T Y x10~2 g J=ar|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.001

.
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Mathematics Section A

Section Id : 708191686
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191966
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819117194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let a, beR. If the mirror image of the point P(a, 6, 9) with respect to the line

= = 9 is (20, b, —a—9), then |a+Db] is equal to :

! |
wn

Options :
70819156731, 84

70819156732, 56

70819156733, 88

70819156734. 20

Question Number : 61 Question Id : 70819117194 Question Type : MCQ Option Shuffling : Yes Is Question Manda

Correct Marks : 4 Wrong Marks : 1 coIIegedunias_

India’s largest Student Review Platform



" - (+] o - x - -,
& B9 a, be R 799 92 P(a, 6, 9) T TouT yf3fdy ur & = T 9H3

|
11
=]

(20, b, —a—9) I 3" [a+b| TTET I :
Options :
70819156731, 84

70819156732, 56

70819156733, 88

70819156734. 9

Question Number : 62 Question Id : 70819117195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let a, b, c be in arithmetic progression. Let the centroid of the triangle with vertices

(a, ), (2, b) and (a, b) be [%ﬂ %J If , B are the roots of the equation ar2+bx+1=0, then

the value of a2+ B2—ap is :

Options :
69
70819156735, 200
i

70819156736, 226

H9
ostotsersy B8 M collegedunia
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70819156738.

Question Number : 62 Question Id : 70819117195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ho BT a, b, c »ix Tfcf3a B3t feg 95 | 38 faW © 43 (a, ¢), (2, b) »3 (a, b) T d=ad

18 7 i .
(centroid) [T’ %J J | #33 AHEdE ax2+bx+1=0 € HB o, B T8 3€ 2 +p2—apf T
e T
Options :
69
70819156735, 220
n
70819156736, 220
&
70819156737, =0
71
70819156738, =0

Question Number : 63 Question Id : 70819117196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gcollegedunias
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If Pis a point on the parabola y=13+4 which is closest to the straight line y=4x —1, then
the co-ordinates of P are :

Options :

(3. 13)

70819156739.

70819156740. (2 8)

70819156741.

70819156742, (17 9)

Question Number : 63 Question Id : 70819117196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Fag P, I8 y=2+42 8355t fie 3, IR S y=ax-12 W F33 3, A P2 fsoom

wid T3 |

Options :

70819156739. 29

70819156740. (2 8)

70819156741.

70819156742. (L 5)

Question Number : 64 Question Id : 70819117197 Question Type : MCQ Option Shuffling : Yes Is Question Manda
Correct Marks : 4 Wrong Marks : 1 g coIIegeduniag
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For which of the following curves, the line x ﬁy — 23 is the tangent at the point

33 1
3 E
Options :

70819156743.

X
70819156744.

2x2 — 183,-2 =0
70819156746.

Question Number : 64 Question Id : 70819117197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

. 33 1 St 4
Iz fodt =307 fad, 3™ 2 + 3y = 243, ﬁag{T E],@%Hﬁaﬂwfm

Options :

12+y2=?
70819156743.

x2 9y2=9
70819156744,

1

=5 .
70819156745, B gcollegedumag
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2x2—-18y?=9
70819156746.

Question Number : 65 Question Id : 70819117198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
3
The value of the integral, j[x2 2x —2|dx, where [x] denotes the greatest integer less than
1
or equal to x, is :

Options :

70819156747,

70819156748, 4
70819156749. V2 -3 -1
70819156750. V2 -3 +1

Question Number : 65 Question Id : 70819117198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fgafaarag'j[xﬂ 2x—2]dx T,

( T8 [x] wifmwasH Ay Aftmr, x 3 uwe 77 x 2 99799 J) -
Options :

70819156747, 5

% gcollegeduniag
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V2 -3 -1

70819156749.

2 -3 +1

70819156750.

Question Number : 66 Question Id : 70819117199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The negation of the statement
~pa(pvq)is:
Options :
70819156751, ~ P 71

70819156752, ~ F

70819156753, © 1

70819156754, P/~ 4

Question Number : 66 Question Id : 70819117199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TEE ~ pa(pvq) T ETIH :
Options :
70819156751, ~F V4

70819156752, ~F " .
collegedunias
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AT
70819156753. po=d

70819156754, £~

Question Number : 67 Question Id : 70819117200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let A and B be 3 X3 real matrices such that A is symmetric matrix and B is skew-symmetric
matrix. Then the system of linear equations (AZB?—B2A?) X=0, where X is a 3x 1 column
matrix of unknown wvariables and O is a 3 X1 null matrix, has :

Options :

70819156755, Mo solution

70819156756, & wmique solution

70819156757, ©xactly two solutions

70819156758, infinitely many solutions

Question Number : 67 Question Id : 70819117200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

¥e B8 A w3 B g 3x3 T THIfea Hican 95 wefa A mHfH3et Hican I w3 B fouw
AHTH3E! Hefoan I 3T Ifua milaas yarat (A2B2-B2A2) X=0, (fa8 X g1 3x 1, = »ifam3
98T T8l §H Hican I w2 O gH 3x 1 &1 fAge Afean J) &5
Options :
et I8 & T
70819156755.
gcpllegeduniaé
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10819156756, [ES [<8HE TB T |

Ao @ I8 81
70819156757.

20819156758, "THHS TU 199 € 5 T5 |

Question Number : 68 Question Id : 70819117201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f(x) be a differentiable function defined on [0, 2] such that f'(x)=f"(2—x) for all
x € (0,2), f(0)=1 and f(2) =e”. Then the value of jf{x} dxis:
LI
Options :
¢
70819156759, 1~

2
70819156760, © T ¢

2z
70819156761, =1 T¢€%)

shu ol
70819156762, 21 €%

Question Number : 68 Question Id : 70819117201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

.
gcollegedunlas
India’s largest Student Review Platform

~



HE 89 fa f(x) f3edafmes gos [0, 2] 82 ufgg™az 3 1 #=f9 f(x)=f(2-x), A9

x e (0,2) B, f(0)=1 w3 f(2)=e2 I€ _j‘f{xj dx THS T :

Options :

a
70819156759, 1 €

2
70819156760, © T €

x
70819156761, =1 +¢7)

shas ek
70819156762, 21 €%

Question Number : 69 Question Id : 70819117202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f be a twice differentiable function defined on R such that f(0)=1, f'(0)=2 and

1f@) @)

f(x)z0forallx e R. If o @ = 0, for all x € R, then the value of f(1) lies in the
b x

interval :
Options :

70819156763. o)

70819156764. (3, 6)

70819156765. 6. 9)

.
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(9, 12)
70819156766.

Question Number : 69 Question Id : 70819117202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Hs 8§ 2 g9 fsedfmweas ess R €32 ufggfaz  a=fa flo)=1, f(0)=2 w3

fx)  fx)

1 =0, A9 x € R. 9, 3€ f(1) T HS fan »izTs
F) fe) '

I,F’{xjr[]ﬂ"’%xe R TEt | T:IT:E'H‘

&9 3.
Options :

0, 3)
70819156763.

3 &
70819156764. )

70819156765. (6 9)

(9, 12)
70819156766.

Question Number : 70 Question Id : 70819117203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the curve y= ax2+bx+c, x= R, passes through the point (1, 2) and the tangent line to this
curve at origin is y =x, then the possible values of a, b, c are :

Options :

70819156767. a=1, b=1,¢=0

a=1 b=0, c=1 .
70819156768. g collegedunias
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70819156769 2= ~ L, b=1,c=1

rb:

+1]

I
k3| =
b3 | =

70819156770.

Question Number : 70 Question Id : 70819117203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ha9 TIT y=ax’+bx +c; x € R, fie (1, 2) fod Buret 9 w3 fem 239 § HE (origin) 3 WUIH 3uT
y=xJ| 32 a b,c T HITII HS :

Options :

70819156767, @=1, b=1,c=0

a=1 b=0, c=1

70819156768.
70819156769, 2= — L b=1,¢c=1
1 1
a= —, b = —, 0= 1
2 2
70819156770. 2 2

Question Number : 71 Question Id : 70819117204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If n=21is a positive integer, then the sum of the series
sl o] e o o I e [P

Options :

n(n —1)(2n+ 1)
70819156771. 6 gcollegeduma

~




n(n + 1) (2n + 1)
b6

70819156772.

.11{211 +1)(3n +1)
b

70819156773.

.n{n I 'l]z(n + 2)
12

70819156774.

Question Number : 71 Question Id : 70819117204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

799 n>2 TN Y35 Wid I, Fe B "IC,+2(2C,+ G, + 4.4 G, ) TR

Options :

n(n —1)(2n + 1)
70819156771. 6

.n(n F1)(2n + 1)
70819156772 6

.11{211 +1)(3n +1)
70819156773 6

n(n 'l]z(n + 2)
70819156774, -

.
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Question Number : 72 Question Id : 70819117205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For the system of linear equations :

x—2y=1, x—y+hkz=-2, ky+4z=6, ke R,

consider the following statements :

(A) The system has unique solution if k=2, k= —2.

(B) The system has unique solution if k = —2.

(C) The system has unique solution if k=2.

(D) The system has no-solution if k=2.

(E) The system has infinite number of solutions if k= —2.
Which of the following statements are correct 7
Options :

70819156775, “*) and (D) only

70819156776, (4) and (E) only

(C) and (D) only
70819156777. t

70819156778, (©) and (E) only

Question Number : 72 Question Id : 70819117205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

.
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Ifua AHlaas Y=r8t x—2y=1, x—y+kz= -2, ky+4z=6, ke R B, 15 85 I3 fod 995 :
(A) Y8t o% feduz I8 I, 799 k22, k+ — 2.

B) Y&l o fedyz 98 J, Aad k= — 2,

C) Y8 om feduz I8 J, A9 k=2.

D) Y<B! &% dEt IS &It J, 79 k=2.

E) YTBl a% miHz I8 I8, 7949 k= — 2.

J& fafan 25 fagz stla 3 2

Options :

70819156775, 1798 (A) %3 (D)

(
(
(
(

fHge (A) M2 (E)
70819156776.

70819156777. ey AD)

70819156778, 17¢ (B) »13 (E)

Question Number : 73 Question Id : 70819117206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let f:R — R be defined as
55x, ifx<—5
f(x) = {2x°~ 32— 120z, if -5< x<4
227 — 332~ 36x — 336, if x >4,

Let A = {x e R: fis increasing}. Then A is equal to : .
Outi collegedunias
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70819156779, (— %, =2 v (4, =)

70819156780, (3, —4) W (4, =)

70819156781, (— - —9) v (—4, =)

70819156782, (2 *)

Question Number : 73 Question Id : 70819117206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

H& B8 fIR — R, J6 fau 397 ufsefas 1

55x d9d x< -5
flx) = 12x°— 3%~ 1201 F9T -5< x <4
2x° — 3x2— 36x — 336 g x > 4.

WIA={xcR:f TG J} 3€ A 9353 J :
Options :

70819156779, (— % —2) Y (& =)

70819156780, (3 —4) v (4, =)

70819156781, (~ ®, —3) v (—4, =)

70819156782, (2 *)

Question Number : 74 Question Id : 70819117207 Question Type : MCQ Option Shuffling : Yes Is Question Manda gcg)llegedumag
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Correct Marks : 4 Wrong Marks : 1
1 _1 63
A possible value of tan(—sm ! T] is :
4

Options :

70819156783, N/

70819156784.

70819156785.

70819156786, 2¥2 — 1

Question Number : 74 Question Id : 70819117207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i V63 o o
tm‘u[ism 1%}? REEE] HE :

Options :
1
=
70819156783. V/
1
22

70819156784.

.
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Ji

70819156785.

70819156786, 2¥2 — 1

Question Number : 75 Question Id : 70819117208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The angle of elevation of a jet plane from a point A on the ground is 6(0°. After a flight of
20 seconds at the speed of 432 km/hour, the angle of elevation changes to 30°. If the jet
plane is flying at a constant height, then its height is :

Options :

70819156787, 36003 m

70819156788, 2+U0V3 m

70819156789, 1500V3 m

i
70819156790, | 2003 m

Question Number : 75 Question Id : 70819117208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

gat Ifea g A aaa T o= as 600 I | 432 fa . y3t e €t se39 3 65= 3 20 Afdm
ge f5g d< 30° © 3 72T J | 7499 79 99 »iws 890t 2 85 faor 7 37 Onet S9et T
Options :

70819156787, 3600+/3 HISS

.
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70819156788. 2400+/3 HieT
70819156789, 18004/3 HIZT

70819156790, 1200/3 HI<T

Question Number : 76 Question Id : 70819117209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The vector equation of the plane passing through the intersection of the planes
;(; £ 2 } 5 ,E:] =1 and ;(; - 2}] — — 2, and the point (1, 0, 2) is :
Options :
r\3i+7+3k)=7
70819156791.

r-(i47543k)=7

70819156792,
r (_I ?:jl’hij—f—
70819156793. 3
rli+7j+3k)=2
70819156794 3

Question Number : 76 Question Id : 70819117209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatorv - Na

Correct Marks : 4 Wrong Marks : 1
gcollegedunias
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a1 i+ j+ k) =193 (i —2]) = — 2 S fie (1, 0,2) R S I

THIS =1 2929 AHIESS -
Options :

- \3i+7+3k)=7
70819156791

r-(i+7543k)=7
70819156792.

7
70819156793, L

rliv7j+3k)=2
70819156794 3

Question Number : 77 Question Id : 70819117210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For the statements p and g, consider the following compound statements :

(@ (~qr(p—q)—=~p

(b) (pva r~p)—q

Then which of the following statements is correct ?
Options :
70819156795, (a) is a tautology but not (b).

70819156796, (P) is @ tautology but not (a).

70819156797, JEHEEE ASIeE wee ot o g collegedunia:
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70819156798. (a) and (b) both are not tautologies.

Question Number : 77 Question Id : 70819117210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

IEE p w3 q B, Ve B8F I3 o feas a9s
(@ (~qa(p—q)—-~p

(b)) (pva~ r~p)—q

J& foy guat f29 fags At /3% 2
Options :

70819156795, (@) T S (tautology) J ud3 (b) &1 |

70819156796, () < Ge&HT (tautology) T YT (a) BT

70819156797, (@) w3 (b) €2 2 @E_ 3 (tautology) T

70819156795, @ ™3 (b) T2 T8E (tautology) 5t T |

Question Number : 78 Question Id : 70819117211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If a curve y=f(x) passes through the point (1, 2) and satisfies 1% oy = bx*, then for

. 62
what value of b, jf{xl‘i"f = ? ?
i

Options :

10 S
70819156799. gcollegeduma
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70819156800.

70819156801.

70819156802.

62
5

Question Number : 78 Question Id : 70819117211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

499 TIT y=f(x) fiT (1, 2) &9 Swst T w3 x%ly=hx42§ﬁ3‘ﬂ'€rmﬁl 3T

y |

2

b @ form s Bt [f()da=—
1

Options :

70819156799.

70819156800.

70819156801.

70819156802.

10

.
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Question Number : 79 Question Id : 70819117212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The probability that two randomly selected subsets of the set {1, 2, 3, 4, 5} have exactly two
elements in their intersecton, is :

Options :

70819156803.

70819156804.

70819156805.

70819156806.

65

=

2:’

35
7

Question Number : 79 Question Id : 70819117212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
HHTJ {1, 2, 3, 4,5} € 933319 gz 9 € QuAya &t a< &9 fAge © 33 75, &1 Ages I3

Options :

70819156803.

70819156804.

65

2:’

65

.
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70819156805. =

70819156806.

Question Number : 80 Question Id : 70819117213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The area of the region : R = {(x, y) -5y2 < y = 2224+ o) is :
Options :

3¢ ¢ its
70819156807, ©V3 Square units

20819156808, 9V3 Square units

70819156809, 11¥/3 Square units

12 square units
70819156810, 12¥3 %

Question Number : 80 Question Id : 70819117213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

H3T R={(x, y): 522 = y < 222+ 9} ¥ UIJE\ :
Options :

70819156807, 633 <991 TEaEM

70819156808, 9v3 991 e gcollegeduma

~



0819156800, 11V3 <991 feamem™

70819156810, 1243 99 fearemm

Mathematics Section B

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 81 Question Id : 70819117214 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the variance of 10 natural numbers 1, 1, 1, ..., 1, k is less than 10, then the maximum

possible value of k is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

708191687
6

Online
Mandatory
10

5

20

Yes

1
708191967
Yes

.
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Question Number : 81 Question Id : 70819117214 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

dag 10 Yfg=sa Aftmrer 1,1, 1, .., 1, k 7 YATE 10 3 We I | 32 k & A3 wifiasH HS
I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 82 Question Id : 70819117215 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let a point P be such that its distance from the point (5, 0) is thrice the distance of P from the
point (=5, 0). If the locus of the point P is a circle of radius r, then 4r? is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 82 Question Id : 70819117215 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

He &5 fdg P, A =t fig (5, 0) 3 =<, ferst fig (—5,0) I 21, S f5a=t 91 vag fdg P = foonrt
T AHY (locus) »3T fo™ r T8 999 I 37 412 §959 cue o]

Response Type : Numeric
Evaluation Required For SA : Yes

.
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Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 83 Question Id : 70819117216 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the area of the triangle formed by the positive x-axis, the normal and the tangent to the
circle (x —2)%+ (y—3)2=25 at the point (5, 7) is A, then 24A is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 83 Question Id : 70819117216 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Hod ToSHd x- Od, T8E (5,7) 83 959 (x—2)2+(y—3)2=25 =t AUTH 3™ »3 nifgsg T oufa"
g=e Jrel f3aE © U59em A J € 24A 99HT J

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 84 Question Id : 70819117217 Question Type : SA

.
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Correct Marks : 4 Wrong Marks : 0
21 21
1+ iy3) (1+ iv3)
2

B ' [1|r‘}.

Let 1=+ I.If{

= k,and n=[|k|] be the greatest integral part

24

n+5 n+5
of |k|. Then Z’(; | 5)2 Zn{; t5) is equal to .
F J=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 84 Question Id : 70819117217 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

. —1+ i\f3
TR W ”‘; |

(1— i) (1+ i)

Hi 3 32 rf{_mf;}"’- rf(_;wsr}ma T

=0 =0

-}21 (-]_| ‘;ﬁ.]El )

24

k 3 n=[|k|], |k| & »ifua=sy Hugs

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 t0 5.001 ,
collegedunias
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Question Number : 85 Question Id : 70819117218 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The students 5y, S, ...., 54 are to be divided into 3 groups A, B and C such that each group
has at least one student and the group C has at most 3 students. Then the total number of
possibilities of forming such groups is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 85 Question Id : 70819117218 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

oH fefeniadn S, S,, ..., S,y § 3 aGut A, B w3 C 2w fami™ I wefa 9990 ey ffg we we
fea fefenradt »i2 agu C feg famrer 3 fanrer 3 fefonradt I e 95 | 3% fer 37 2 agu
HETOT O A8 _ HIEEET T35 |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText
Possible Answers :

5t05.001

Question Number : 86 Question Id : 70819117219 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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nj ”Cr, ifn=zr=0
For integers n and r, let g :
r 0, otherwise

The maximum value of k for which the sum

E(10) 15 ), & 12)( 13
Z{} i Nk f+Z{]. i k1) exists, is equal to ;

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 86 Question Id : 70819117219 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

n}_{"fr dad n2r=0

gﬁ'ﬁﬂ'ﬁtﬁﬂnhﬂrw}mgﬁ[ 0: f S R

r

k(10) 15 &112)( 13 ,
;'3,;[5}[&- i]+,;[i}[kll ;‘Jéﬁﬁ?k?” MASH NS

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Nl
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Question Number : 87 Question Id : 70819117220 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ifata=1,b+p=2and af(x) 4 m-_,r"(iJ = bx 4 E, x # 0, then the value of the expression
x x

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 87 Question Id : 70819117220 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

799 a+a=1, b+ p=2 M3 af(x) 4 rx_f'[l] = bx 4 E, x £ 0 3€ AHIIIE (expression)
x X
@ +£(1)
Y T HS T
x 4=
X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range
Text Areas : PlainText g collegedunias
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Possible Answers :

5t05.001

Question Number : 88 Question Id : 70819117221 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let A be an integer. If the shortest distance between the lines x — A= Zy— 1=—-27 and

7
x=y+2h=z—Ais — , then the value of |A| is
2+/2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 88 Question Id : 70819117221 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ho B9 A dEt yas At I /a0 =T x—A=2y—1=—2z M x=y+2A=z—\ Tt Ue ue gat

V7

zﬁi‘rée:m THs T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001 -
collegedunias
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Question Number : 89 Question Id : 70819117222 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The sum of first four terms of a geometric progression (G.P.) is 12 and the sum of their

respective reciprocals is Ty [f the product of first three terms of the G.P. is 1, and the third

term is o, then 2o is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 89 Question Id : 70819117222 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

fmefedt B & ufTs 0 wer o 9% 2 3w feas @ i GeeH AR - 31 Fm9
frfedt s T B fBrue T 95688 1 W2 ST UT a J 37 2a all

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 90 Question Id : 70819117223 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

.
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: . 27
The number of the real roots of the equation (x +1)%+|x—5|=— is _

1 R

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001

Question Number : 90 Question Id : 70819117223 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

RIS (x 124 r—5|= o @ THSfed e A fret T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.001
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